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What is 2o for; as we learnt in a Xp»92  — RoInToR %5 ;b 20

Overview

The xm3 explained the reason we derive X371 M0°R of 797 from 0°%7y and
not from 92X° XY is because the 710 writes 037 concerning 7197, This would
indicate a nX17 2n°7; therefore an extra 0D of 0°77Y is required for TO°KR
7X37. The Xnx subsequently asks that ultimately why the 770 wrote 032 (it
cannot be for X3 07 for we derive the 7RI M0°R from 2°97Y). The Xnx
answers that the word 03" teaches us the rule of 2°21% 1.

In summation: there are four words to indicate 7837 MOX (including 228> &9
and three '0°973") to teach us three 2>110°X (including 7PY7M Y728 7RI NOK)
[and one 5% to teach 0°277 vwi]. It seems that two 297y and 228 X5 should
be sufficient to teach the three 0°10°X. Why are there three o°27v?! Our
mooIn discusses this issue.’

MooIn asks:
— 99y /) TPYONIN ININ b‘.‘l‘”‘m: APy 290 VPN

The 927372 "' asked why are three 2°97¥ necessary to teach MoX ,7X17 MNO°R
Av°28 and 7?77 MOX -
— PYTNY NY XY DYDY 29N 2INDY

Let the 70 write two 297 for the 7¥°2x 10X and pPY757 (and 7x17 MoK

will be derived from 998> XY) -
— £39Y 135 09Y NINN TN I3

And perforce the 25% will teach the rule concerning publicly owned

plantings. moon explains why 057 will teach 2°21% ¥101 and not be P77 VYA -
— ©999¥ 7901 1N XYY D99 2IN9Y RY KON *NPYTH 9190Y INT

For if 027 is coming to teach permission for mp>777 then the 70 should

not have written 2% and also not have written one of these two 299y

(instead of writing two 0°27v and then excluding one of them with 02%) -
- NYAY ODIY TN NININ JINS XD 9IONRY

And we would prohibit 78377 from %28 8%, and we would prohibit 7w7ax

from the one 2%y -
— YONY NP PN P91

" This can be 7n°71% or Mo°X> depending on the opposing views of the > p"n.

? It may be advisable [for others] (that after a cursory reading of the m20W) to read the ‘Appendix’ first and
then review the m»on thoroughly.

? It appears from Moon that 7p977 MoK is the biggest w1n and would be the first to be excluded. This is
also apparent from the fact that the X773 mentions it last (P°27° 821 ¥a8> RoW 737 X7w). See footnote # 9.
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And we would permit 372771 for there is no P15 to prohibit 7557

mooIN anticipates a possible solution to his question and rejects it:
— NPYTHY NN 1PN NONRY ¥IWM SN N9NT “91215 N
And one cannot say that from 958> X% we assume that even P77 73°2x
is prohibited -
— NN DD YN XYM 19290N MN DYDY 11 YN XY 2915 NN INY
And therefore if 928> X% and only one 2%%7¥ would have been written we
would have prohibited all 78377 (including 77p%77 7¥°2%) from 958 KY -
— YT DIVY YD
And 2°%7y would teach us some other ;727. Therefore it was necessary to write
two "9 and 2oY to exclude pP%7m.

mooIn anticipates a difficulty with the proposed solution:
— NPY1NY NYXANY INTD 139998127 "N
And that which the Xn>72 required additional @pyep (the two additional
D’b‘ﬂ]) for .'IP’W.'H MY9AX and we could not derive them from 7R 70°KX; nevertheless it
is not difficult, for we can still maintain that if the 7710 would have written only 758> X?
and one 2°77v (and no 03%) we would have derived np%7m v°28 70°R. The reason the
Xn*92 requires additional 0>y for IpP?7M AY°2X -
— 059 AN5T OIYN 1IN
That is because the 7170 wrote 237 -
— NN DD PNNY ynwn 09
For 2o indicates to permit all nIR17. However we are discussing that it should
not say 037 and only one 2°77v. Then indeed we would derive from 92X° X7 all 7837 * 0K
including P27 ny°ax. -
— PO 19V NN DI DIVAY S9N 29N NN IN IINDY
And therefore if two 2°>7y and 22% would be written we would permit
P97 and not know 0°27% a1, That is why it is necessary to write all three 2°7w. This
would seem to answer the initial question of the %°2mpn >".

* The proposed solution of the 91> X is as follows. If the 710 would write two 227y and 0% we would
say that the 037 excludes the np277 110°K. We cannot say that if the purpose of 037 is to exclude P77 MoK
then the 70 should not have written 037 and only one 2°27y, (and I would understand the 73p%77 2n°7) as
mooIn pointed out in the question; This is not so. If the 7710 would have written only one 2°27¥ and 93X X7
(and no 03%) I would assume (7¥°2%1) P77 MR from 29X X7, and I would not know the 7p?77 07,
therefore the 710 wrote 037 and two 2°27V to exclude 277 from 727 oK. In conclusion; if there would
be only two 0°27 I would not be certain that 037 teaches 0277 101 but rather I could assume that the 037 is
for P77 217 (and there is no other way to teach that 7n°71 besides writing 03%).

> How can the "1™ PXY' suggest that if there was no 027 and one 277 we would assume that the 9% XY
teaches np?7M Y ax Mo°X, when the R7n3 states clearly that three 0°27y are required to teach #RI7 70K
P27 nyax but without the three 0°97Y we would not include 7p%77Y 7Y°2X in the 7R37 0K,
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mooIn responds that this is no solution:
— Y228 19°9NY XY HINY NINT 19 9919 TVON N

It is not possible to say this; namely that 93%° X% would include 73°2% (if there were
no 02v) -
£ (DY) X,XP NOP N33) TITINNA TANTI NI /DY NI NPT

For 7v°2% is merely an appearance without substance as the X713 stated in

BT P9, Therefore there is no way that %% X would include ;7y°2%. Therefore we
would assume that one 2°97v is for my°ax M0°X and we would not know p277. Why
therefore did the 770 write two 0°97 and 03% since it is not necessary for 7277 0! We
will therefore assume that it is teaching 7277 M0°X (as well as 7¥°2% MO°X) and the 037 is
for 0°27% ¥101. The question remains why all three 077y are necessary?!

mdoIn does not answer the question of »aMpn *".”

Summary
928> XY (on it own) cannot include 7¥°2% MoK for v 2 is XAYY2 KRNI,

Thinking it over

mooIN rejects the M7 1°X); stating that 928> XY cannot include 73°2% MOK, for
it is X172 XN, Seemingly this implies that 7277 MO°X can be derived from
55> X7. The "M% X1 would then seem to be correct; the 7710 could not have
written one 2°77v (and 928> X?) for then we would derive ny°a¥ from 2°77v
and np%7M AR from 90X X7, but our intention (according to the Mm% PRY) is
that P97 is NNy, therefore it writes two 2°27y and 2% to insure that 7p%77
is nann. Therefore if we want 7P97:7 to be 710K we require three 0°77y. This
would seem to answer the ¥°27pn "7 nwIp.

Appendix
22PN YT nwRn:

At the conclusion of the X713 the P09 of X% 0¥y 00% 770 31 NP Ny
95N>, is teaching us four M%7 which include 7277 7Y°2% 7837 °N0°K and 103
0°27%. The reason 72%° X7 does not teach us 7XI7 MOX is because of 032
which can mean 7x37 2n°7. However in reality 037 does not teach us 0’7
X177 but rather 0°27% 301, Seemingly we can then derive 7817 10X from R

® See previous Pin 7" Moo,
7 See the various o°wan (including 121 1"2% ,X"wain ,2"wann) who offer answers to N1d0IN question.
¥ See X"sw (and v9P MR N"1 2"N).
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758>, and only two 0°77y will be necessary for P71 7¥°2% MoK, This is the
basic question of 2°271pn *"11.

21 7770 5N

There is however a difficulty with this suggestion. When there are three
o°97y (which teach P71 7v°ax 817 °710°X), then the 00% must teach 303
0°27% (for the 7n°1 (aspect) of 0% is cancelled by the 958> X% and the three
D°%7y teach us aPRTM AY°AX ARIT OMOR [so there is no real purpose in 03%
unless to teach 0°21% ¥w1]). However if there would only be two 0°%7¥ and
DOX> X2, we may (mistakenly) assume that 0d% is teaching us P77 n°1 and
not 0°217 i (There are only three 2’09, so even if the n°7 of 037 is
cancelled by one of them, there remain only two 7¥°2%3 X177 710°K? 0°P109 but
not for 7p277.) That is why three 0°77¥ are necessary to make sure that 03
teaches 0°27% ¥1 and is not excluding np277 MMOX. This would seem to
answer the question of the 2°27pn >".

N91 P70 AN ORT

However this difficulty can be circumvented. If there are only two 0°97¥ and
7OX> X there are two possibilities how to interpret the ?os. Either the 0o
comes for 0°277% ¥01 and the three 210X of P27 7YX 7RI are derived
from 928> X7 and the two 2°97W (this is the option preferred by the °"
9°2Mpn), or 0dY teaches P77 n°1 and not 2°21% 31 and only 7Y°2XY 1K1
are MoX. Logic dictates that we take the first option, for if the intention of
the 0o was to permit 7p%77 (and not teach us 0°27% ¥101) then the 770
would have only written ?0X%> X7 and one 2°77¥ (this would teach us T0°KR
7v°2%7 7R37) and not 2o either, then we would not know 2°27% 101 and 7p%70
would be nann (as the second option suggests). Why then would the 7710
write two extra words (2°27v and 02%), when it can all be accomplished by
omitting one 2°27¥ and 03Y). Since we see that the 770 wrote two 2°27W and
0o% we are forced to conclude that the two 0°97y and 75X XY teach the three
0%, and 02% teaches 0°27% ¥ 1. The initial question of the %°27pn "
remains: why write three 0°27v, when two would suffice.

The question of °21pn *"17 is based on the assumption that if the intention
of the 770 would be to be 7P777 7N and no "% of 2°27% M1, then there
should be only one 0°%7y and %2x%* &% but no 03°.

01 1% PRI

One can however question this assumption; Perhaps the intention of the 7710
was to be 7277 7°nn (and therefore the 037 is required to be 7277 7°nn) and
the reason the 770 did not write one 2°27v (and no 23%) is because we would
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then assume that 928> X includes P27 7¥°2% X317 and the 2°97Y is for some
other unspecified 7w17 and we would not know 7p%777 n°n. Therefore the
770 must write 23% for %77 n°n. [This is the 1217 1XY of M190IN.]

127 712°7%¥1T XM

One would seemingly challenge this approach (of the 217 1°X1). How can we
say that 928> X? would include %7 7¥°2%, when our X7m3 clearly requires
separate 0717 for n¥°ax and for 7P277? The answer would be that the X723
is discussing the P09 where 037 is written. Therefore once the 710 writes
0o% which indicates a nX17 20’7 one requires additional o>7w% for yUax
TP27M; however we are now discussing a case where there is no 032 (and
only 2oX> X2 and one 0°77), in this case perhaps 728° X7 can include v°2%
P27 as well. If we accept this assumption then again there is no
compelling logic to assume that if the 770 wants to be P57 7°nn it should
omit 037, and have only one 0°97v, for we can argue if there is no 03 then
2oX° X7 (alone) will include 7p?77 723,

Therefore there is no question of 9°27pn °"177; the reason the 710 writes
three 2>V is to make sure that 7277 is 770K for if there were only two
0°%7y we may think that 7p%77 is n7nn, and we cannot know that from one
2’97y and 9oX° XY because 798> X? without 257 can include P97 V723 MOK.
This concludes the entire 217 PXY. At this point the question of 221pn >"117 is
answered. This answer is based on the assumption that if there is no 0%,
then 7o%> X% will include 7p%7m 728, According to this 1% PRI the reason
the X7n3 required three 0>71»°% for P27 7Y°2% 7R3 is only because the word
037 is written; otherwise pP27M 7¥°2% X317 can be derived from 998 X5.

10 M9 R"R

mooIn however rejects this assumption (that 758> &% [without 05%] includes
APYTM Avax), because 2IXY XY can certainly not include *nv»ax for ayeay is
X172 ¥ and is not included in the nX17 70X derived from 958> R5.
Therefore since 7o%° X7 alone cannot include 17v°ax therefore if the intention
of the 710 was 7p%771 077 it should have written 798> X7 and one 2°77v; this
would teach us 1837 MO°XR (from 9oX° X9) and 7v°2% 0K (from the one 2°77Y)
and 7p277 would be 701 because there is no M0°X? 7105 and we would not
know 2°27% ¥101. Since the 770 writes two 2°27Y and 22 then we are forced
to conclude that the intention is 7p%77 M0°X and 2°271% W1, The question
remains why the need for three >7v!!

? Seemingly, N9 means [even] 7v*ax¥ and certainly [not] 7p2773. See ‘Thinking it over’.
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